Ratio to ATLAS

d’c/ d N*°d ptT’had [pb/GeV]

=

=
<

1074

[EEY

0.5

13()00 va PP

:l T T T T | i I ' I |: 9
— —
— top 3
N P, (ATLAS semileptonic ttbar) =3
B =
—
E E A\
= =
[ 1
- 1=
| — ™M
. )
— ;)’)&\\ u __g
— ’ \\ 4o
~ \\\. _|
| \E\ _
E_ \;\s;l\\. —55
~  m ATLAS '§$‘,~;~,\ g
~ -0 Pythia6.428390 NIl 18
--8-- Pythia 6.428 391 NN 2
=~ _ 4 -- Pythia 6.428 392 NN EkE
— -+~ Pythia 6.428 396 NN <
. \.' O
— --%-- Pythia 6.428 397 @ HE=
T --v-- Pythia 6.428 398 18
[%2]
— —5
— o
— — O
H | | | ] | | e
= —2
1
| ) ==_===¥ ]
B 3 S T -
4 —- ;%‘:’4‘: '''' rmm zizi=:
B %—‘?‘7‘!— T :@:5::::@2::::=:===" ''''''''''' @ _05
| " 1 1 1 1 | 1 1 |
0 500 1000



	Contents
	Page 1


